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o 1. (Thermodynamics):

¢ 2. ( system):
(surrouding):
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(open system):

(closed system):

(Isolated system):
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. 3.

. 1. mechanical equilibrium: (P)
e 2. thermal equilibrium: (T)
e 3. phase equilibrium:
(m)
e 4. chemical equilibrium:
(K)
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(extensive properties):

V, N

(Intensive properties):

r=G/V
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.T=pV,. /R




function)

1.

(state

pA







W

Qv






300K

1mol 5atm latm A
latm B 0.5atm
A. W= [ p dVv
= 101325(V.,-V,)

RT(1-02)= 0.8RT= 19954 J

B. W,=f p dV= 50662.5(V,V,)
= 04RT= 997.7 J



U=t(x.y)

DU

U

L
L

(x+

(X+
(x+

X,y U

DX,y+Dy)  U(x,y)
DX,y+Dy)-U(x+Dx,y)] +

DX,Y)- U(X,y)]

X,y



lim U(x+Dx, y+Dy)- U(x+Dx,y) %

Dy® 0,Dx® 0
M U(x+Dx y)- U(x, y) » 200 gy =Y 6 o
Dy® 0,Dx® O 8dx Q/ 81[)( Q/
dU = lim DU _ &l 9 dx+aa£2 dy

DU®O _8Wﬂ/ 8ﬂy@



U=xy

U _iy) _ X _

0 fx _y'['x y

Y _909) -y,

Ty Ty Ty

du :de+mdy: ydx + xdy
T Ty

dU =d(x°y®) = 2xy’dx + 3x°y°dy



U X( )Xy

xdy

dxdy

dU = ydx+ xdy + dxdy » ydx+ xdy = gd]” _dx + ?]”U 9
X@ y

dx

dy



. DU=U,-U,

U=xy

DU=dydx+xdy)













C < a4m

first law of ther modynamics

E=U+T+V

- T=1/2-mV?2.



(first law of thermodynamics)
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DU Q W

DU

DU Q W

W






1840 Joule

Joule
772 1cal=4.157 J

(cal)
14.5°C I55°C

lcal =4.184 J



(enthalpy)

DU Q W Q [ p dV
P P=P;
DU Q plorZ(VZ Vl)

U, U) Q (p,vV, pVy
(U tp,V,)  (Ui+p,Vy) Q, (1)



. H

H= U pV

(enthalpy)

(1)
DH Qp

(2)

(3)



DH  Q,

Sl J, J/maoal.
(W;=0)

DH Q, J C,dT
C, DT






Qy W [ pdv=0)

C, dT




NRT
R R=8.314J/mol .K.




U(T)

vV)=0 (
fp);=0 (




(TH/V)+ = (M(U+pV)/IV)+
= (TUV)++ (TpV/V)-
=)
pVvV

(TH/p):=0

U U T
H H T



( p-0 )



(Q.W)







300K 1mol

latm: (1) latm (2)
2atm latm (3)
dp
(2atm)
latm
(1atm)
*

Ii
EL

4atm

4atm,




1 1 £
0 0 1 2 3 4\
Wi=-[ p dV=-p,V, V,) W2=-[ p dV
=-RT(1 0.25) =-ps(Vy V)-po(V, V,)
=-0.75RT=-0.75*8.314* 300 =-RT(1 0.5)-RT(1 0.5
=-1871 J/moal =-RT
=-2494  J/mol

W3=-[ p dV=- pdV
=[ (RT/V)dV
=-RTIn(V,/V,)
=-RTIn4=-3458 J/mol
BA A

W3( )=- pdV=RTIn(V,/V,)
=3458]



B Q=-W=3458J:
B A Q=-W -3458J.



(quasistatic process):

(reversible process):
A B
(irreversible process):

. A B






(heat capacity)

C do/dT

Cy (dQ/T), = (dU/dT), DU=Q,,

C, (dQ/dT),= (dH/dT), DH=Q,



. Co=atbT+cT2+ -

p,m
. =a+bT+C'/T+ -
. a,b,c
o - J.K1
J.K-1kgl.
e1mol (J/K.mal)

° CV,m Cp,m



1/2kT 1/2K.

3/2kT,
1mol

U =N,x (3/2kT)=3/2RT
Cy =(TUMT),=3/2R



5/2KT,

Cy ,=5/2R

3KT,

C, ,=3R



Com Cum=(THAT), (TUAT),
=(T(U+pV)AIT), (TUAT),
= (TUAIT), (TUAT),+ (T(eV)AIT),

(TUMIT),= (TUAT),=dU/dT=C, ( )

Com Cynm= (TRT)AT),

C,m Cym=R

P,Mm

Cp  Cy=[(TUMV)1+ p] (TV/T),



Cym=3/2R  C,,=5/2R
Cym=5/2R  C,,=7I2R
Cym=8R  C,.=4R

=C,/C,

0=5/3=1.667
0=7/5=1.400
0=4/3=1.333



(

3x 2x 1/2kT 3KT

3N, KT=3RT
)
Cy n=3R



adiabatic process
(

Q=0 ( )

dU=dw= p dv= pdV ¢
dU=C,dT

C,dT =- pdV =- ”Vﬂdv =-nRTdInV



(CyT),
dT/T= nR/C,dInV
dinT= (C, C,)/C,dInV
dinT=(1 g)dinV

nT=(1 glnV +K’ K
NT=InV @ 9 +K’
n(Tve H=K’

o ‘=K



TVY 1=
- (1)
(2)

pl gT 9=
(3)



W=-f pav=f (Kvedv=-K/[(1 g)v%@
W=Vl gvs 1][(1 AR
=-p,V /(1 9+p,Vy /(1 g

W=-(p,V, p,V))/(@ 1) (4)
W=-nR(T, T,I/I(g 1)

, DU=C,, DT
W=DU=C\(T, T, (5)
@ O



dU=80+8W=38W
(00=0)
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pV"= 1 n o (@

i (1) :
pV=nRT= (dT=0) (2)

(1) .
pVe= Q=0, ) (3



(state equation)

p-V-T

PV=nRT



o a/V 2

van der Waals equation

(p*alV 2V b)=RT
a,b



 (
pV,=A+B/V +C/V *+...

p=RT/(V -b) a/(TV 2

V=(a+b)(1 € A/R

a=RT/p b=B,(1 b/a)
e=c/aT? A=A, (1 ala)



1843 Joule
V

1852 |, Joule-Thomson

p21



W.=p,V,
W= p,V,
Q=0

DU=W |

W =
2 i 1+W2—p1V1 P,V
l l l |1_ plvl p2V2 N

U
> PV, U
2 1 1 PVy



J

m J-T

nx0
1040,
=0

T

m=(YT/9p),

dp<0 dT>0
dp<0 dT<0



J-T

J-T

195K

J-T
J-T

1t=0)
(Inversion temperature)



J-T m

e J-T ,dH=0, :
dH=(H/{T),dT+ (TH/fp);dp=0
(THAT)@ETE  (THAP)Ydp)  (dH=0)

m:(‘ﬂT/ﬂp‘)H/: (TH/p)+/ (TH/TT),

= VC [(T(U+pV)AIp]ly 2 (1HAT),=C,

= UC[(TUAR)+(T(pV)/ Pl




(TUMP):=0 (T(pV)/Mp]+=0
= /C[(TUMP)+(T(pV)/Tp]+ =0

1 t=0]



* B.

» = VC[(T(UMp);] LC[(T(pV)/p);]

o p : V

(MTUMIp)-<O0  dp<o,  du>0

m



pV-p

, pV
CH,, E :

[(T(PV)/TP)+]cha <O 4 PV H
CH, m >0, >0,
m273K ,CH,)>0,

¥ CH,

2 y

[(T(PV)MIP) 7]z > O .

H,: m >0, <0,

RT

. . 273K pV,-p

m(273K ,H,)<0,



CH,

RT

273K

PVip

v



195K,

195K

RT,
/
RT,
/
RT,
/
RT,




P T4
Pl T P
1 2

P T4,
PaT s

Isenthalpic curve)

4 3 2(p,T»)
-'—

1(p1T1)

y ©




4 2(p,T o)
2 1(p1T1)
6
!

(T /9p)y=m
( 3 mO



>0
) rn<o,

(inversion curve)

y O




&S00

K

2400

200

H-=

O

O 200

o Bl %, 4k G 45

00

10 Pa

A dly £%,



(p+a/V,2)(V,-b)=RT
p=RT/(V.-b) a/V_?

dU = (JU/T), dT+ (TU/V),dV
= C, dT+ (TU/fV).dV



* (TUMIV):=T (Ip/T)y P
=T(T[RT/(V,-b) aV,AMT), p
=TR/(V'b)  [RT/(V-b) &Vl

. =alV,?

- dU= CVdT+a/Vm2 dVv



° DU =f [Cv,md-r""""/vm2 av]
. DU

e DU,=C(T, T)+a(V,, 1V,
+  DH,=DU+ D(pV)

O DH m:RT(Vm,Z/(Vm,Z-b) Vm’]_/(vm,]__b))
+2a 1/Vm’1 1/Vm’2



(ther mochemistry)



(298K, 1p

C( .1p9 +0O, (9.1p9 ), CO,(9.1p9

DH._(298K)= 3935 kJ.mol™



1840
Hess

Hess

(Hess’'s Law)

Q,=D,U
Q,=DH

D.U

Hess



1 | DH?
2C(  )*+3H,(0,1p%) ——  C,H4(9,1p%

298K :
(1) C(  )+04(9,1p°% - CO,(9,1p%
DH= 393.15 kJ.mol-i
(2) Hx(9,1p%+0.50,(g9,1p°% - H,O(l)
DH= 286.0 kJ.mol-1l
(3) C,Hg(9,1p%)+3.50,(g,1p% — CO,4(9,1p% +3H,0(I)
DH= 1560.0 kJ.mol-i



(Dx 2 (29x 3 (3)

DH DH,x2 DH,x3 DH,
2x ( 393.15)+3x ( 286) ( 1560)
85kJ.mol-1



1. (enthalpy of formation):
oI o) 1mol
DmeO
DmeO( ):O
; 1T, 1p°.
. 0.5H,(g,1p%+ 0.5Cl,(g,1p% =**~ HCI(g,1p°
; DH %= 9231 kJ.mol

HCI
HCI

D:H_°%HCI,g,298K)= 92.31 kJ.mol-



DrH mO:z (ni DfH m,io)

. A+B=C+D

DH <0

A+B

DH <0

D,H<0

C+D

0
2:(nit%khnj)
DH <0 DH <0
A+B C+D
D.H>0




2.
1mol

(combustion enthalpy):
1p°

N-N, (
CI-HCI (aq)
Br-HBr (aq)



DrH mO:z (ni DCH m,io)

. A+B=C+D

A+B
y 3
D.H <0
D,H<0
C+D
y y
D.H <0

CO,

0
Z (ni Dch,i )
b)
C+D
D.H>0
A+B
x
DH <O
DH <O
CoO,




Z 00 Z2000x

LI T OZ2000=T

435.9
342
613
845

139
463
354

kJ.mol*
kJ.mol*
kJ.mol*
kJ.mol-*
kJ.mol-*
kJ.mol-*
kJ.mol-*
kJ.mol-*



H+



HCI
HCI(g) -~ H*(aq, « )+Cl (aq, « )
D_H(298.15K)= 75.14 kJ.molL

e D H,(298.15K)=DH (H*aq, « )+DH(Cl ,aq,~) DH, (HCI,g)

DH_(HCl,g)= 9230 kJ.mol?

DH_(H*aq, o )+DH_(Cl ,aq,~ )= 167.44 kJ.mol*
D:H_(H*,aq, « )=0

DH_(Cl ,ag, o )= 167.44 kJ.mol



H+* .
HCI-Cl : HBr-Br :HI I
BRIt 0)c H.CO, - CO,2 ;
BER@I. PO 2 ;

NaCl - Na*; KCl-K* MgCl,-Mg*;

DH,°=> (n;D:H,,;9) > (N, Dfll_lm,io)






298.15K
298.15K,
Tl
?
aA+bB (T,)

‘DHg

aA+bB (T,)

(Kirchoff’s Law)

 A+B - C+D , 1,

AT cC+dD (T,)
DH,,
DH, T
== cC+dD (T,)




DH,, T,

aA+bB (T)) _ cC+dD (T,)
DH
DH, ‘
DH,, T, '
aA+bB (T,) , cC+dD (T))
Hess .

DH, = DH, +DH.+ DH,
= DHl +I TZTl[an,m(A)+ bCpm(B)]dT+
J 114cC,,(C)+ dC, (D)]dT
DH,=DH, +f ;,"2D,C.dT
DGC:Z niCp,m(i)
n,: |



(1D,H/T),=D,C,

(M= D,C,.dT+ |

DHW(To)=DH(T)+] 1,"D,C, dT

r~p,m
:Der(T1)+ DGC,,m(TZ Tl)
DC

r=p,m






D,H=Q,=0
aA+bB (T,) ~ cC+dD (T))

DH 4

DrHm(T1)

cC+dD (T,)

DH=DH, (T,)+DH,=0
DH,(T)= DH;=[ ;' Co( )aT
T1 298.15K,
D:H,(298.15K)= DH;= [ ,9515¢"* Cpy( )T
T,




. , 298K,1 :
1 5 ?

; : N,:80% (V); 0O, 20%(V) Com(02)=C, (N,)=29
J/K mol; C m(ZnO) 40 J/K. mol DHm(ZnO 298K) -349
kJ/mol.

1molZn,1molO,,4molN, DH=0 1molZnO,0.5molO,,
298K ,1p°. - 4moIN,  T7?, 1p°.
DH, DH,
1molZnO,0.5molO,,

4molN, 298K, 1p°.




Zn0O ;
DH,=DH.(Zn0O,298K )=-349000 J

DH,=[ C,( )dT=[ C,.(ZnO)+0.5C, .(0,)+4C, (N,) dT
=40(T-298)+0.5x 20x (T-298)+4x 29x (T-298)
=170.5(T-298)

DH=DH ,+ DH,=0
-349000+170.5(T-298)=0
T-298=349000/170.5=2047
T=2345 K

2345K
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